S

b

Wkhen k:=na/a

3BS - Crpb 2017 A.J3.Aeu¥-

, e wawobinghion of Yo oo,
haddes Bo B%&MW.W,
Yo vone ocaanet popesske |, ool 38 Koo s
o dusolloves sSteke

v, Qlase. ¥ B8 te lorbdden skalos He evmluchion

f 19)1° Lade & e Pm-.hlxk‘-m ; Yook
Ko doaFon @ dese = oo 3o 008
ko peladall oolls%uﬁbvnua. M%
seks  or" & bodiveas tha dto~as o ‘aces
hp.k'o»hAJ barreor bo¥seon Mlonns '-%—L.th%u\
Q-MW%M M&\D@o«&f\oky&ef

‘>°)\.C&.

'I

v
N

2




c

Maa nﬁﬂe%w&ae}a&m Lofoe roran) S
Ee, te~ \M«Wo&&e— ba_oh \aM—c\L»Aa—d&,Ee,
30

Bn = - Ee
Heraa

Che E“/a‘ 5"2'-/3 'u,

bae b [fevod QV&\Q.LG\WB\U-O\M’\'S&L
o oM MQ—W?%/QVL ae larae o

MM%



).:"‘/P,
DY = —JQ(P @_LP__"' \)b?
ar .
AN » Y
="

R (Ce'e) 4 VWY 2 R .(-ju‘ﬂ
2m
L Bt - Vo hg
2~

Now . Bbo: ho 2 E fow Baslo Moo




c f Ve hee t-;.,woLQpa-st , 86

-/t 3% - VW - EQ

2w 3.‘2}

Ossele Bo vell He ol volid selidTa. @ W=,
sl e oon/

4 % - B
Zn a.‘:cf'

Sheah Les Bo g-emr& salutia
Y = Ask&x)» R cas ()

b Be M aesldicrs ~aon Q(O)’(P(L3=O
se B=0 ce

@ - Asia (M=)

/\-Aa‘sfmt(ﬂg.‘x dc = |
-

o

A - 1, 2
CoQa AT se ()



u. Nowv

ht v - Ev

2~ 2Ax
i [‘ q.a?.q) " E‘-P
2w L \3
. E 2 ntatkt
2nlLt
MHewsa, # L= Sx107 m Ha fou be pusol steke (n-1)

£ == (1 os-s~|o i
2.9 109 ' g~0°D"

Lﬂ% 2.4 »10°"3F = ISmeV




L

Mol L
I Ewvac
|
I

R p MQuhs 4o B ia olose b the VB

B= 3G +1-2 » S-SeN. o the Qaks ¢&)S?d-4"'

b bpe tan R clostor WA, | so ~ b2e
p-MGQas n-JahBs / R




W, Mo e & p-dogosl | 52

P= Na - Nv@.kp(‘_e_ﬁ_>
T

. Bp+ =BT ln(&
Ny
= ~0-%62~10™". 300 ln(JQ_"'__
6~10""
Erf~ 0-22ev

Horer, = X+Eg ~Be 2 4.0 + 0-62-022=4-4SeV

Mekol P-Salts
| - Sioa
|
— 2.

i S W




T

AP, =
P ™ = NaolNv QXP("E
<
h:r>

L Be 2 ~eT In/ n®

b 1+ n=N
@e-kp(Eﬁ’EQ> P N
> vgex
gk B P("._E_F

= NNy
. o -“
210" 300 ln [ (09*
I Ec= |I-O7eV QO?S)‘L
W, Nx Np = lou'h-s i
2 A
P 2 (\0‘6)1 2 IO& i
N 7 v -

W, Ta loser &
“\WMW\WWQ
Mo bs  goatza. R M:
)y an) recba




3

&)
o —
: —» 2C
P\Q}'& Ol S/Q
A
ﬁ
D2C
c‘g _Q . VT
S
Ep Vtor > Eo&rov . Br tox



-

’b’.;,,/ = 6!\."‘6«
Peevs

\6,_
ﬂo-‘-N‘D a2 S"loe—zl"\"3 P°: V\;l z (lSw(on) 22,
Vie S~
2 4-S*ld M7

Toke baw =~ Swa g0

v = 160271072 Sr0* S*x10°? = O-Sbs
4-s =102 |- 602~107"?. 10°

c
A
Crew

—> % V

3

L S
A

Eolrow - Ve
tor

" V-r . Ceton

Eo Erev

9

Vo = Vorae = Siow Oon be sod ﬁwv'r‘

-10 -





